Potencias de 10 (H)

5.703 0.1

2.8511+0.1

5.1045-+0.1

9.547+0.1

7.4125+0.1

5.0582 0.1

3.702+0.1

8.892 +0.1

1.8987 +0.1

1.9454 0.1

Calcule los siguientes cocientes.

6.5094 0.1

1.622 0.1

1.7877-+0.1

9.5402 0.1

1.6669 =-0.1

2.1403 0.1

8.1282 0.1

1.6476 0.1

9.0825 0.1

3.9384 0.1
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Potencias de 10 (H) Respuestas

5.703 0.1
57.03
2.8511+0.1
28.511
5.1045-+0.1
51.045
9.547+0.1
95.47
7.4125+0.1
74.125
5.0582 0.1
50.582
3.702+0.1
37.02
8.892 +0.1
88.92
1.8987 0.1
18.987
1.9454 = 0.1
19.454

Calcule los siguientes cocientes.

6.5094 0.1
65.094
1.622 +0.1
16.22
1.7877+0.1
17.877
9.5402 +0.1
95.402
1.6669 +-0.1
16.669
2.1403 0.1
21.403
8.1282 0.1
81.282
1.6476 0.1
16.476
9.0825+0.1
90.825
3.9384 +0.1
39.384
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